CIE-H10 MODBUS/TCP

SUHAILE =M



CIE-H10 MODBUS/TCP

=Xt
1. CIE-H10 MODBUS/TCP......osriiireeirenerinssessesiesesssessssssssssssssss ssssssssssssssssssssssssssssssssssssssssssssssesssssssssssns sesssssssssssnsons 3
2. Class 0 cOMMANAS ELAIIS.........coovrmririireieire sttt ss st ss st s s ss s nsssn st nnes 3
21, MODBUS/TCP NEAUEN ... st ssss st sssssss st st ssssssss st st ssss e sss s sss st nsssness 3
2.2, REAA MUILIPIE FEGISTEIS....cceureereceeeceeeeeeeeees ettt ettt ess st sss s sss s e 3
230 WILE MUILIPIE TEGISTEIS. ..ottt sess st ss bbbt ss st st s s e 4
3. SAMPIE COUR. .ottt s b s sbe e bes s Sbeb st 5
3.1 CMOABUSENGINE ..ottt ssss st st sss st ss s st bbbt 5
3.1 T B sttt 5
2

Version 1.0



CIE-H10 MODBUS/TCP

1. CIE-H10 MODBUS/TCP.
1. TCP/IP Z2EZ=2 AF23}0] MODBUS G|O|E{E X&stL|C}.
TCP porte= 5022 AF23tL|CL
MODBUS G|O|E = big-endiang At&¢tL|Ct.
CIE-H10= MODBUSZ| Class 0 &t==0+ X| &gl

- Class 0 = %|2pt0| R8¢t g2 XIS LICh

> W

Function Code

Read multiple registers Function code 3

Write multiple registers Function code 16

2. Class 0 commands details.

2.1. MODBUS/TCP header
- MODBUS/TCPE At83t= ZE 2%, SH0= CH32| bbytes?} i

Mg LC

=

No. Description

ByteO | Transaction identifier-copied by server — usually 0

Bytel | Transaction identifier-copied by server — usually O

Byte2 | Protocol identifier = 0

Byte3 | Protocol identifier = 0

Byted | Length field (upper byte) = 0 (since all messages are smaller than 256)

Byte5 | Length field (lower byte) = number of bytes follwing

2.2. Read multiple registers
- Function code = 0x03(HEX) ¢!L|LC}.

- Read multiple registers command request

No. Description

ByteO Unit identifier = The unit id of CIE-H10

Bytel Function code = 0x03(HEX)

Byte2~3 | Reference number. = The input or output port address of CIE-H10

Byte4~5 | Word count (1 ~ 125)

® CIE-H102 input/output portZ} 87§ O|EZ word count= &4 18 ALE.

mjo

- Read multiple registers command response

No. Description

ByteO Unit identifier = The unit id of CIE-H10
Bytel Function code = 0x03(HEX)

Byte2 Byte count of response ( B=2 x Word count )
Byte3~(B+2) | Register values
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® O porto| ZtO| register values@| %[51| bit &IL|LC}.
® Register valuesQ| Bit7} 10| CIE-H109| input portZ2 20|
O|H Y= A”LICL

Read multiple registers command exceptions

No. Description

ByteO Unit identifier = The unit id of CIE-H10
Bytel Function code = 0x83(HEX)

Byte2 Exception code = 01 or 02

2.3. Write multiple registers

Function code = Ox10(HEX) {!L|LC}.

Write multiple registers command request.

No. Description

ByteO Unit identifier = The unit id of CIE-H10

Bytel Function code = Ox10(HEX)

Byte2~3 Reference number. = The output port address of CIE-H10

Byte4~5 Word count (1 ~ 100)

Byte6 Byte count (B=2 x word count)

Byet7~(B+6) | Register values.

® 0t port| ZtO| register values| %|8}%| bit QJL|C}

® Register valuesQ| bit7t 10|H £#H&E LHEL|D 00|H =HE YELHX FES

L|ct.

Write multiple registers command response.

No. Description

ByteO Unit identifier = The unit id of CIE-H10

Bytel Function code = Ox10(HEX)

Byte2~3 Reference number. = The output port address of CIE-H10
Byted~5 Word count (1 ~ 100)

Write multiple registers command exceptions.

No. Description

ByteO Unit identifier = The unit id of CIE-H10
Bytel Function code = 0x90(HEX)

Byte2 Exception code = 01 or 02
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3. Sample code.

3.1. CModBusEngine
MODBUS/TCP £ F3 st class & L|LC}.

311 =R
1.

SEA
%!-_I_

SendReadRequest

CIE-H109| input / output port9| Zf2 A= =Y L|CH

Parameters

Transaction_id

Request transaction id

Unit_id The unit id of CIE-H10
address The input or output port address of CIE-H10
SendWriteRequest

CIE-H109| output portZ2 &8s WYELl= YLt

Parameters.

Transaction_id

Request transaction id

Unit_id The unit id of CIE-H10

address The output port address of CIE-H10
value Output value.

OnReceive

MODBUS/TCP response IjZl S X 2|sl= L Ct
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